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IQ Question 1 (3 points)

g}

Transportation models can be used for

which of the following decisions?
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are ildemlon riables and 7 constraints.

S There are 12 dedsioﬁvariabl_ésand 12 constraints.

@ There are 12 decision variables and 3 constraints.
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 Which of the following statements conceming the transshipment problem is not true?

- T e 2

gt ¥, —
n the number of units shipped into a destination point.

i e o . (\
() There can be constraints o
: : . o .

@ Any units shipped from one origin'point must all go to the same destination point,

. (& The transshipment problem can be ;o?ved with linear programmipg. ;

origin point. {

@ There can be constraintson the number of units shipped out Gf‘é“





image3.jpeg
Which of the following statements concemning the transshipment problem is not true? h
@ There can be constraints on the number of units shipped into a destination point.
@ Any units shipped from one origin point must all go to‘the same destination point.
©  The transshipment problem can be solved with linear programm ing.
There can be constraints on the number of units shipped out of an origin point
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Question 4 (3 points)

: te ” hes steps of thw orner n afterm the initi ocation of
Which of the following accurately describes steps of the northwest corner rule, after making the initial allocatio

units inthe northv

vest cell?

Move down first, and then move

ther the demand requirement o

ending on

jown first, depending on whether the supply capac
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Hﬂt riumpqr-fodnd inthe sﬁms with plus signs. ‘
O The smallest number found in the squares with minus signs.

@ The smallest number along the closea path.

©  The minimum of the demand requirement for that column and the supply capacity for that row.
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Question 6 (3 points) ' : : o

In a transshipment problem involving 3 ongms 2 intermediate points, and 4 final destinations, what is the total number
of decision variables?
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Question 6 (3 points)

In a transshipment problem involvi e .
o i m involving 3 origins, 2 intermediate points, and 4 final destinations, what is the total number

@ 20

@ 14 k
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Question 7 (3 points)

Which of the following techniques can be used for moving from an initial feasible solution to an optimal solution in a
transportation problem?

Hungarian method

northwest corner rule

e method





